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QUESTION 1

During a UE detach procedure, which commands are exchanged over the gx interface?

A. Delete Session Request / Delete Session Answer

B. Credit Control Request Terminate/Credit Control Answer Terminate

C. Release Session Request / Release Session Answer

D. Credit Control Request Release / Credit Control Answer Release

Correct Answer: B

QUESTION 2

A UE is sending data to its FTP server over the EPC core with the TCP port 20.

Based on the information shown in the

exhibit, which of the following bearer(s) will be used for the uplink FTP flow?

#A:PGU§ show mobile-gateway pdn hearer-context

Bearer context

INSI AFN Bearer Type Q(CI/ARF MER/GBR 5DFs
302720123456789 dipd.alcacsl-luce® § Def  5/12 = 1]
302720123456789 ipd.alcatel-luce* & Ded 2/12 15000/10000 1
302720123456789 ipd.alcatel-luce® 7 Ded 4/10 5000/2500 1
Number of bearer contexts : 3
*A:PGWE shov mobile-gateway pdn bearer-context imsi l FA
302720123456789 derail g | o | [ z T
T N I AT AT TN TN I TR RS e ) 1 "
Eearer context detail uE "'"‘l;d" m______,pw/ Server
semsmmessmmsmsmomssoeona smsssssssssssssssssees 55 1245 Evolved Packet 10.10.6.2
s t 302720123456789 Core
AFN : ipd.alcatel=-lucent.com
EBearer Id HE Bearer type : Default
QCI/ARF t 9/12 SDFs £ 0
Up Tine O 1 B 1o . B
A IM3T i INZTI0LZI4IETES
L e LPH : ipd.alecacel-lucént.com
Ins1 : JD2720123456789 Bearer Id ) Bearer cype : Dedicaced
APN : ipd.aleatel-lucent. col QCI/ARP i 4710 SDFs Fik
Bearer Id t & Bearer type : Dedicated | Up Time 1 O0d D0:00:29
QCT/ARP i 212 SDFPs i |
Up Time ; Od 00:00:2% SDF rule name ¢ rule-2
SDF rule name : rule-1 SDF precedence : loo SDF pkt filters : 2
e SDF QoS UL MBR : 5000 Fbpa SDF QoS DL MBR : 5000 Kbps
SDF precedence 1 20 3DF pke filters : 2 3DF Qo3 UL GBR  : 2500 Ebps SDF Qo3 DL GBR  : Z500 Ehpa
3DF Qo3 UL MBR ¢ 15000 Ebps SDF Qo3 DL MBR  : L5000 Kbps| Filter id LR Filter direction : DL
SDF Qo5 UL GBR : 10000 Fbps SDF QoS DL GHR : 10000 Fhps | Filter prectocol : top
Fileer id T Filter direction : DL Source sdéress @ 10.10.6.2/32
Filrer protocol @ udp Source porcs 120 - 21
Source address i 10.10.6.2/32 Destinaticn addr @ 5.5.12.45/32
Source pores 1 200 - 21 Fileer id e Filter ditection : UL
Destination addr ; 5.5.12.45/32 Filter protocol @ top
Filter id t 1 Filter direction : UL Source adéress : 5.5.12.45/32
Fileer protocol @ udp Destination addr @ 10.10.6.2/32
Source address : 5.5.12,45/32 Destnatior ports ; 20 - Z1
Destination addr : 10.10.6.2/32 s T T e e e e e e e T e s
Destnation poxrts : 20 - 21 MNumber of hearer contexts @ 3
<Output continued in the right window: |

A. The bearer # 5 will be used for the FTP flow.
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B. The bearer #6 will be used for the FTP flow.

C. The bearer #7 will be used for the FTP flow.

D. Both bearer # 5 and bearer # 6 will be used for the FTP flow.
E. Both bearer #5 and bearer #7 will be used for the FTP flow.

Correct Answer: C

QUESTION 3

Based on the information shown in the exhibit, how many EPS bearers has the PGW created in total for all UES?

A:PGH# show mobile-gateway pdn bearer-context

Bearer context

IMSI APH Bearer Type QCI/ARP MBR/GER SDFs
302720123456791 ipd.alcatel 5 Def g9/12 = o
302720123456791 ipd.alcatel 6 Ded 2/2 30000/20000 1
302720123456790 ipd.alcatel 5 Def 9/12 = o
302720123456790 ipd.alcatel 6 Ded 2/2 30000/20000 1
302720123456789 ipd.alcatel 5 Det 9/12 = o
302720123456789 ipd.alcatel 6 Ded z2/2 30000/20000 1
A. 6

B.5

C. 4

D.3

E.2

F. 1

Correct Answer: A

QUESTION 4

During a UE detach procedure, which commands are exchanged over the S5 interface?
A. Delete Session Request / Delete Session Response
B. Terminate Session Request/Terminate Session Response

C. Release Session Request / Release Session Response
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D. Delete Bearer Request/Delete Bearer Response

Correct Answer: A

QUESTION 5

Which of the following statements is FALSE regarding the EPS bearers?
A. An EPS bearer is either a GBR bearer or a Non-GBR bearer.

B. An EPS bearer is either a default bearer or a dedicated bearer.

C. A dedicated bearer can be a GBR or a Non-GBR bearer.

D. A default bearer can be a GBR or a Non-GBR bearer.

E. A UE can have multiple GBR or Non-GBR bearers.

Correct Answer: D
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